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https://www.youtube.com/results?search_query=magnetic+friction+eddy+currents
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Incidência oblíqua
<latexit sha1_base64="8JlwljPteGKYdHOm5pifJvE83qc="></latexit>

ẼI = Ẽ0Ie
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Incidência oblíqua
<latexit sha1_base64="8JlwljPteGKYdHOm5pifJvE83qc="></latexit>
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Incidência oblíqua
<latexit sha1_base64="8JlwljPteGKYdHOm5pifJvE83qc="></latexit>

ẼI = Ẽ0Ie
i(~k·~r�!t)
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Incidência oblíqua
<latexit sha1_base64="8JlwljPteGKYdHOm5pifJvE83qc="></latexit>

ẼI = Ẽ0Ie
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Incidência oblíqua
<latexit sha1_base64="8JlwljPteGKYdHOm5pifJvE83qc="></latexit>
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Incidência oblíqua
<latexit sha1_base64="8JlwljPteGKYdHOm5pifJvE83qc="></latexit>

ẼI = Ẽ0Ie
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Incidência oblíqua
<latexit sha1_base64="8JlwljPteGKYdHOm5pifJvE83qc="></latexit>
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ẼR = Ẽ0Rei(~p·~r�!t)
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<latexit sha1_base64="cc8EygNupARlJncd7UInka/HqVs="></latexit>
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<latexit sha1_base64="8JlwljPteGKYdHOm5pifJvE83qc="></latexit>
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Incidência oblíqua
<latexit sha1_base64="8JlwljPteGKYdHOm5pifJvE83qc="></latexit>
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<latexit sha1_base64="whDGVo9+O2TVGEWdRFqdOYZFn3E="></latexit>
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<latexit sha1_base64="ozmMqHt0UoBQzp8gE0O4r0aBzrU="></latexit>

ẼT = Ẽ0Te
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<latexit sha1_base64="TYzwH/dHVqxB4qV5eMY7mrTMHBY="></latexit>

ẼR = Ẽ0Rei(~p·~r�!t)

<latexit sha1_base64="FLnhuMMcrnkT0VDs+nvFpFfKriA="></latexit>

E0 cos ✓ + E0R cos ✓ = E0T cos ✓T

<latexit sha1_base64="whDGVo9+O2TVGEWdRFqdOYZFn3E="></latexit>

✏0(Ẽ0z + Ẽ0Rz) = ✏Ẽ0Tz

<latexit sha1_base64="cc8EygNupARlJncd7UInka/HqVs="></latexit>

Ẽ0x + Ẽ0Rx = Ẽ0Tx

<latexit sha1_base64="Rh7gWMGRPUh7tGgJh0x8t7CXrmk="></latexit>
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<latexit sha1_base64="TYzwH/dHVqxB4qV5eMY7mrTMHBY="></latexit>
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<latexit sha1_base64="FLnhuMMcrnkT0VDs+nvFpFfKriA="></latexit>

E0 cos ✓ + E0R cos ✓ = E0T cos ✓T

<latexit sha1_base64="whDGVo9+O2TVGEWdRFqdOYZFn3E="></latexit>
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<latexit sha1_base64="cc8EygNupARlJncd7UInka/HqVs="></latexit>
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E0 + E0R = ↵E0T
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E0 � E0R = nE0T



Incidência oblíqua
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ẼT = Ẽ0Te
i(~q·~r�!t)
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<latexit sha1_base64="yU/YhG9cwlF81x3v621NptW26SY="></latexit>
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Incidência oblíqua

<latexit sha1_base64="yU/YhG9cwlF81x3v621NptW26SY="></latexit>

E0 + E0R = ↵E0T
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<latexit sha1_base64="yU/YhG9cwlF81x3v621NptW26SY="></latexit>
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<latexit sha1_base64="xr1vsVrflU59stR81htNWUah4UA="></latexit>

↵ ⌘ cos ✓T
cos ✓
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Ẽ0

0 20 40 60 80
0

0.2

0.4

0.6

0.8

1

✓B

✓
I R
/I

0
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Meios condutores
<latexit sha1_base64="5CO+tBxW5dUyCC7hEUJGEN70tzY="></latexit>
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Meios condutores
<latexit sha1_base64="5CO+tBxW5dUyCC7hEUJGEN70tzY="></latexit>
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<latexit sha1_base64="VP7SZDln7K1GjYzz68CVJu3SmJE="></latexit>
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Meios condutores
<latexit sha1_base64="5CO+tBxW5dUyCC7hEUJGEN70tzY="></latexit>

~r⇥ ~B = µ�~E+ µ✏
@~E

@t
<latexit sha1_base64="VP7SZDln7K1GjYzz68CVJu3SmJE="></latexit>

r2~B = µ✏
@2~B
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+ µ�

@~B
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<latexit sha1_base64="/VjX+YcTU0Rke2J8RsHrje2rY64="></latexit>
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Meios condutores
<latexit sha1_base64="5CO+tBxW5dUyCC7hEUJGEN70tzY="></latexit>

~r⇥ ~B = µ�~E+ µ✏
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<latexit sha1_base64="VP7SZDln7K1GjYzz68CVJu3SmJE="></latexit>
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<latexit sha1_base64="/VjX+YcTU0Rke2J8RsHrje2rY64="></latexit>
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Ẽ = Ẽ0e
i(k̃z�!t)x̂



Meios condutores
<latexit sha1_base64="5CO+tBxW5dUyCC7hEUJGEN70tzY="></latexit>

~r⇥ ~B = µ�~E+ µ✏
@~E

@t
<latexit sha1_base64="VP7SZDln7K1GjYzz68CVJu3SmJE="></latexit>

r2~B = µ✏
@2~B

@t2
+ µ�

@~B

@t
<latexit sha1_base64="/VjX+YcTU0Rke2J8RsHrje2rY64="></latexit>

r2~E = µ✏
@2~E

@t2
+ µ�

@~E

@t

<latexit sha1_base64="aKxKVdghnw6bemnvChrCRUuJsK8="></latexit>

k̃2 = µ✏!2 + iµ�!

<latexit sha1_base64="BAp5aIPTxhBIOnROfif2WEX825Q="></latexit>

k̃ = k + i

<latexit sha1_base64="Tp1+KdOU8jylDy2UYpznlUF9x08="></latexit>

k̃2 =
⇣!
v

⌘2⇣
1 +

i

!⌧

⌘
(⌧ ⌘ ✏

�
)

<latexit sha1_base64="9ZW0jijo9Aejz/YsAUlGw2ZjHiw="></latexit>
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